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The series bridge capacitor should be 
sized big enough so that the resonant period
of its resonance with the transformer leakage
inductance, is greater than the switching period.
Also, the capacitor should not be so big in value
that it takes a long time to build up a voltage to
counter the flux walking.

Voltage Mode Half Bridge

Voltage Mode ramp
here derived from the
oscillator.

Note: There is no FET current limiting
here.....so you would not do it like this.

"Hard" Centre 
Tap Voltage.

No leakage shown
in the transformer so
that simulation runs
faster.

This expression gives the 
primary magnetising current...
I(L2)+1.27*(I(L4)+I(L5))

NS/NP=1.27
NP/NS=0.785

Higher current &
higher voltage
diodes would be 
used.

VIN

VOUT

Should really startup
via series resistor from
higher voltage than vcc
startup, but simulation is
quicker when done like
this.
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